= BblunTtaHue gecaTuyHbIX 3HAKOB (2 udpbl)
Nims: JaTa: OueHka: ___
4.31 4.84 8.72 9.53 9.71
—5.31 —-2.92 —-3.94 —-2.12 —-2.34
4.42 7.93 3.8 3.79 4.81
—4.39 —6.7 —6.01 —8.16 2
1.3 6.51 1.42 3.36 2.88
—2.36 —2.88 —-/.16 -5.13 —-2.83
2.22 6.26 5.6 3.13 8.53
—-9.96 —-4.34 -3.04 —-/.01 -/.31
1.96 2.55 4.51 7.07 3.02
—-9.87 —-3.18 —2.20 -4.7 —-5.83
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BblunTaHue fecaTuyHbIX 3HAKOB (2 udpbl)

4.84
—2.92
1,92

7.93
—6.7
1,23

6.51
—2.88
3,63

6.26
—-4.34
1,92

2.55
—-3.18
-0, 63
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8.72
—3.94
4,78

3.8
—6.01
2,79

1.42
-7.16
-5,74

5.6
—-3.04
2, 56

4.51
—2.260
2,25

[aTa:

9.53
—-2.12
7,41

3.79
—-8.16
-4, 37

8.36
-5.13
3,23

3.13
—/.01
-3, 88

7.07
-4.7
2,37

OueHka:

9.71
—2.34
7,37

4.81
2
2,81

2.88
—2.83
0, 05

8.53
—/.31
1,22

3.02
—-5.83
-2, 81
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